Thne fare %<Pi> ~ M Po >

V¥ me >
1
<o 7
= “my Ao Wyl s 'hom@/a%;@x[ﬁ, f7vu‘v-x&m‘ /V
\w
1s J"’ ?}<0> 5 Whente HO(K) = Z i
fer com ¢ & = 4
() S Compinfe  Hy (k) 4
| %
/_L-cyo&s / a(f <‘>:‘7+"b<'¢‘2>+n<?v¢‘?) =0

(<> —<09) € m(<2s ~a3) + h(<o>-27) = o

(m-t) <oy « (L-m)<iv + (m-m) cay =0
=i L= m o= m
=7 oy Loyl s oam Iwﬂefe‘c %/OA*P& af
C= <O« <,y «<2, o) [
MCQ L‘c(,a) - Z[
[
5z Atnase for kK = M -
| Z -
o qohs (k= &) = o
WL‘W" ®) P
Ho © Bomne on,éémmw , O P=7 —
He é} 0y - Uy (e KH}cWhﬂM? ovl a 2« theun
Hy @ oo

Hy @ o XLy -l



